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What will be y; and z; for a point on the x-axis?
What will be x; for a point on the yz-plane?
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What is the length of the vector P; (ie., the length of the line OE) ?

If F;_ makes an angle a4 with the x-axis, By with the y-axis, and Y1 with
the z-axis, what is the relation between X1, Y1, 2Z7 and aq, Pg, 71?
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What is the length of Plaz?
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Write 2@ x? in terms of its cartesian components.
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Calculate the gradient of (i) x + y + z, (ii) x2 - y2,
{iii) == + + z

Calculate the divergence and curl of the two functions plotted above.
Are the results 'in agreement with the pictures' ?
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What complex number is obtained as solution of the equation,
2x2 - 2x - +5=027
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If z3 =3 - i, 29 = -2 + 4i, find, z] + z3,
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By repeatedly squaring and writing the result as x + iy,
complete the following table.
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